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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1781 2.8 1.2 4 69.2 99.7
2 1767 3.4 1.5 6 56.5 98.9
3 1782 3.4 0.8 4 86.1 99.7
4 1730 5.1 2.7 8 63.1 96.8
5 1744 2.1 1.7 5 43 97.6
6 1651 2.6 1.9 6 43.7 92.4
7 1762 3.6 1.1 4 89.9 98.6
8 1576 2.6 1.9 5 52.2 88.2
9 1558 0.7 0.8 3 24.2 87.2

10 1542 1.5 1.3 3 50.8 86.3
11 1648 2.5 2.1 5 49.1 92.2
12 1708 2 0.9 3 67.8 95.6
13 1571 0.9 0.8 2 47.1 87.9
14 1506 1.8 1.7 7 25.5 84.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2.	 The number of pets in each house in a street was recorded.
	 A summary of the results is given below.
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Number of pets 0 1 2 3 4

Frequency 6 8 5 2 1

	 (a)	 On the diagram below draw a vertical line diagram to show this information.	 [4]

Frequency

Number of pets

	 (b)	 Calculate the total number of pets in these houses.	 [2]

	

	

	

	





Sticky Note
Vertical lines required from the plots rather than joining them.





Sticky Note
Vertical lines required from plots rather than bars
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9.	 A concrete base is to be laid for a garage.
	 The base must measure 5·5 metres long, 3·8 metres wide and have a depth of 12 centimetres.

© WJEC CBAC Ltd.

5.5 m

3.8 m

12 cm

Diagram not drawn to scale

	 What will be the volume of this concrete base in cubic metres (m3)?	 [3]

	

	

	

	

	

	





Sticky Note
Using the incorrect unit





Sticky Note
Incorect conversion of units.
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11.	 A currency exchange shop displays the following two posters.
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	 Keith went to the exchange shop to buy 600 euros for his trip to Portugal.
	 The following day he realised that he would be unable to go on the trip.
	 He returned to the exchange shop and changed the 600 euros back into pounds.
	 The shop was displaying the same information as shown above.

	 How much money did Keith lose because of these two transactions?	 [5]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

Need some euros this 
Summer?

£1 will buy you 1·28 euros.

Back from holiday?
Need to change your euros into pounds?

1·50 euros will buy you £1.





Sticky Note
Question misunderstood. Needs to buy 600 euros, not find how many euros can be bought for £600





Sticky Note
Premature approximation
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UNIT 1 - FOUNDATION TIER 


JUNE 2014 UNIT 1 


Foundation Tier 
 Mark Comments 


2. (a)   0, 1, 2, 3 and 4 shown on the horizontal axis.


         Uniform scale starting at 0 on the frequency axis. 


         Five vertical lines at correct height ( 2mm). 














B1 


B1 


B2 


Ignore unequal spacing. 


F.T. where possible from a previous B0. 


Accept intent to draw vertical lines.  


B1 for four vertical lines at correct height. 


B1 for five bars drawn at correct height. 


B1 for sight of five correct plots. 


2. (b)    (6 × 0) + 8 × 1 + 5 × 2 + 2 × 3 + 1 × 4


      = 28 


M1 


A1 


For the intent to multiply values by their frequencies and 


then add. 


C.A.O. 
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JUNE 2014 UNIT 1 


Foundation Tier 
 Mark Comments 


9. Use of  ‘Volume =   length × width × height’


     (Volume =) 5·5 × 3·8 × 0·12 


        = 2·5(08 m
3
)


M1 


m1 


A1 


Allow m1 for 550 × 380 × 12 


C.A.O. 


If 0 marks awarded, SC1 for sight of 0·12 








© WJEC CBAC Ltd. 


JUNE 2014 UNIT 1 


Foundation Tier 
 Mark Comments 


11. (cost of 600 euros =)   600


     1·28 


       = (£)468.75 


        (600 euros bought)   600 


  1·50 


        = (£)400 


  (Keith lost ) (£)68.75 

















M1 


A1 


M1 


A1 


A1 F.T. their amounts. Dependent on both M1. 
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